LUNA MiX KUGU EVYE BATARYASI - 15021131

GR. PERLETOR
8 13010131

|
|
|
|
|
|
|
i
|
10— @} ! 6
1 } GR. KUMANDA KOLU
|
13 % i 5 13020011
I |
|
|
|
|

[ I\ \ )
=3 =/ g
| = x|
L= _ i
Va Y
n
| | o
| | 2 S
1
— )
N o [
GR. BATARYA NIPELI
13010381 T
& ) M8 3
v’ - .
| oS
O |
I |
1 | GR. ALT BAGLANTI
| 13030250
19 } N ! 35
|
I it I
I I
204 ; 24| 1 | Perletor 12310070
} _ 23| 1 | Somun 12030380 M6x15 CuZn39Pb3
| 22| 1 | Saplama 12030370 M6x60 CuZn39Pb3
22 o 21| 2 | Flex (42,5cm) 13080180  |M10x1-3/8
é 20| 1 | Tespit Plaka Contasi 12030360 M6
S_)/ 19| 1 | Tespit Plakasi 12030350 M6 AISI—304
= Im] 18| 7 [ 0-Ring 12300050 837,75X02,62
23 ‘ kRl 21 17| 1 |Perletor Govdesi 12010181 M24x]
RN m]] B 16 | 7 | Perletor Contasi 12010570 |621x814.5x3
bred 5 15| 1 |0-Ring 12210040  |#18x82 NBR
14 | 7 | Batarya Nipeli 12010401 CuZn39Pb3
13| 1 | Boru Nipeli 12010350 CuZn39Pb3
12| 7 [ 0-Ring 12450200 #14x02 | NBR
11| 2 | 0-Ring 12611450 | #11,30x02,40 | NBR
s 10| 7| Yatakiama Segmani 12010370 Naylon 6
9 | 1 [Boru Somunu 12010411 CuZn39Pb3
§§§E Na 8 7 | Boru 12010621 CuZn37
R 7 | 7 |Bice 12010091
6 | 7 | Setuskur 12010490 M5x8 | AlSI—304
5 7 | Kartus Rozeti 12010381 M37x1,25 | CuZn40Pb2
4 7 | Baski Somunu 12020360 M37x1,25 | CuZn40Pb2
3 7 | Kumanda Kolu 12020011 Zamak
2 7 | Ayakli Kartus 12010120 235
A D E L L 7 | 7 | Govde 12010031
Sira |Adet| Parca/Grup Adi Kod No Olgu Malzeme

Armatar | Vana




